38,428		ST	Total Amount without GST						
			Add 18% GST	A					
38,428			Total amount	1					
		sn	2956.00 sft						
2,048	13.00	rñ	157.50 rA	3.50	45.00	1.00	H-block northern side parapet wall at lower basement at 95'6" lvl.	10 H-block northern side parapet wall.	
1,138	13.00	sn.	87.50 sft	10.00	8.75	1.00			
2,600	13.00	sn.	200,00 sft	10.00	10.00	2.00	E-block General staircase lower basement at 95'6"	9 E-block General staircase	
1,138	13.00	N.	87.50 sn	10.00	8.75	1.00			
2,600	13.00	sft.	200.00 sft	10.00	10.00	2.00	E-block General staircase upper basement at 105'6"	8 E-block General staircase	
228	13.00	sn	17.50 sft	7.00	2.50	1.00	Door deduction (-)		
1,287	13.00	sn.	99.00 sft	9.00	5.50	2.00			
1,170	13.00	sn.	90.00 sn	9.00	5.00	2.00	E-block Passenger lift brickwork at lower basement at 95'6" lvl.	at lower basement	
228	13.00	υs	17.50 sñ	7.00	2.50	1.00	Door deduction (-)		
1,430	13.00	sn	110.00 sft	10.00	5.50	2.00			
1,300	13.00	3U	100.00 sft	10.00	5.00	2.00	E-block Passenger lift brickwork at upper basement at 105'6" lvl.	at upper basement	
325	13.00	SU.	25.00 sft	5.00	2.50	2.00	Door deduction (-)		
3,120	13.00	an .	240.00 sft	10.00	6.00	4.00			
2,600	13.00	sn	200.00 sft	10.00	5.00	4.00	Electrical duct at upper basement and lower	5 Electrical duct	
520	13.00	sh.	40.00 sft	10.00	4.00	1.00	Door openiong deduction (-)		
208	13.00	sft	16.00 sft	4.00	4.00	1.00	Window deduction (-)		
2,399	13.00	sn.	184.50 sft	9.00	10.25	2.00			
4,446	13.00	sft	342.00 sft	9.00	19.00	2.00	E-block service staircase wall at lower basement at 95'6" level.	4 E-block service staircase wall at lower basement	
	13.00	sn.	40.00 sft	10.00	4.00	1.00	Door openiong deduction (-)		
	13.00	sn	16.00 sft	4.00	4.00	1.00	Window deduction (-)		
2,665	13.00	sn.	205.00 sn	10.00	10.25	2.00			
4,940	13.00	sú.	380.00 sft	10.00	19.00	2.00	E-block service staircase wall at upper basement 105'6" level.	3 E-block service staircase wall at upper basement	
	13.00	sn	24.50 sft	7.00	3.50	1.00	Door deduction (-)		
1,170	13.00	su.	90.00 sñ	9.00	5.00	2.00			
1,872	13.00	sn	144.00 sft	9.00	8.00	2.00	t E-block Service lift brickwork at lower basement at 95'6" M.	lower basement	
	13.00	us	24.50 sñ	7.00	3.50	1.00			
1,300	13.00	sn.	100.00 sn	10.00	5.00	2.00			
2,080	13.00		160.00 sft		8.00	2.00	E-block Service III 105'6" Ivl.	E-block Service III brickwork at upper basement	
Amount	Rate	Units	Quantity	Width	Length	No's		Item Head	S No.
		PO. Date:					04 05 2025		Prepared By
		PO. No.					Rekha Pandey		Contractor Name:
		Sign:					Gulmohar Residency Civil work	cription:	Work Descr
	Vinner Vinn	Capitorea Di.							

Allowance for Consumables Rekha Panday Mallapur Hyderabad

Date: 04.05.2025

In favor of:

MR Mallapur LLP

Project / Site: Location:

Gulmohar Residency Mallapur

Type of Work:

E-block lower and upper basement brickwork.

Towards:

Bill for Consumables

S No.	Description	Amount
1.	E-block lower and upper basement brickwork. Total Amount = 38,428/- Work done from date 10.02.2025 to date 30.03.2025	Rs. 7,686/-

Amount in words: Seven thousand six hundred eighty six rupees only.

Sign:				

Allowance for Equipment Rekha Panday Mallapur Hyderabad

Date: 04.05.2025

In favor of: Project / Site: MR Mallapur LLP Gulmohar Residency

Location:

Mallapur

Type of Work:

E-block lower and upper basement brickwork.

Towards:

Bill for Equipment

S No.	Description	Amount
1.	E-block lower and upper basement brickwork. Total Amount = 38,428/- Work done from date 10.02.2025 to date 30.03.2025	Rs. 15,371/-

Amount in words: Fifteen thousand three hundred and seventy one rupees only.

Sign:			
Sign		0.001-53	

Allowance for Labour charges Rekha Panday Mallapur Hyderabad

Date: 04.05.2025

In favor of: MR Mallapur LLP
Project / Site: Gulmohar Residency

Location: Mallapur

Type of Work: E-block lower and upper basement brickwork.

Towards: Bill for Labour charges

S No.	Description	Amount
1.	E-block lower and upper basement brickwork. Total Amount = 38,428/- Work done from date 10.02.2025 to date 30.03.2025	Rs. 15,371/-

Amount in words: Fifteen thousand three hundred and seventy one rupees only.

C:				
Sign:				
	-	 	-	